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LAW
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1. Which of the following statements are correct ?

gag The “Basic Structure’ of the Constitution of India cannot be amended.

b) Parliamentary Democracy is included in the list of ‘Basic structure’ of the
Constitution of India.

(c) According to convention of Parliamentary Democracy, the Prime Minister has to be
from the House of People

(d) Article 83 of the Constitution of India deals with the duration of Houses of

Parliament.
Codes :
(1) (a), (b) and (c) are correct. (2) (a), (c) and (d) are correct.
(3) (b), (c) and (d) are correct. (4) (a), (b), (c) and (d) all are correct.

2. From the following statements select the correct answer using the codes given below :
gi) In India at the head of the entire judicial system stands the Supreme Court of India.
i) Under the Supreme Court of India stands the high courts of various states.
(iir)  District and Sessions Court functions under the concerned high court.

Ciodes_: d (ii) onl 2 ii) and (iii) onl
i) and (ii) on ii) and (iii) only
53; 8 and gii?) only 24; §i), (ii) and (iii)
3. MatchLListII with List Il and select the correct answer using codf_s gil\{en below :
ist ist
(a) Article 13 (i)  protection in respect of conviction for
offences.
(b) Article 15 (i)  prohibition of traffic in human beings and
forced labour.
(c) Article 20 (iii) prohibition of discrimination on grounds
_ ~ofreligion, race, caste, sex or place of birth.
(d) Article 23 (iv) laws inconsistent with or in derogation of
Fundamental Rights.
Codes(:) D © @
a c
(1) (v) i_i§ (i, (i)
(2) (i) (1) (v) (iii)

(3) (i) () () (iv)
(4) (v) (i) (i) (i)
4.  Which one of the following Parliamentary Committees in India acts as ‘watch dog’ on
departmental expenditure and irregularies ?
glg Committee on public undertakings
2)  Committee on public assurances
(3) Estimates Committee
(4) Public Accounts Committee

5.  Read Assertion (A) and Reason (R) and answer using the codes given below :
Assertion (A) : Both houses of Parliament as well as of a State Legislature have similar
privileges under the Constitution of India.
Reason (R) : In general the position of the speaker is similar to that of the speaker of
Cod English House of Commons.
odes :

1) Both EAg and gRg are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
3 A) is true but (R) is false

4 A) is false but (R) is true
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fafa

g — 1|
fHE9 : =0 TRT § U (75) S-faeedid Ue € | Uk U9 % &t (2) 31k € | |t U Siard € |
1. TreAfafea & @ &9 @ 6 T €/ B 9 FF T € 2
(a) YR % WAL % ol e § Sgeld e [ohaT ST Tehell |
(b) YR % WAL & GoT e Bl Goll § TEGIT e i et 61 77 & |
(c) THRIT Ak i W o STAR, T Tl oliehaeT & Heifed eiem € |
(d) YR % FAUM FT ST 83 TERIT TIH i 376y F Garad § |

FT , .
(1) (@), (b) 3R (c) W€ | 2 (@, @FADTE
(3)  (b). (c) 3R (d) W E | 4)  (a), (b), (c) 3R (d) THI W E |

2. 9 U T et B v Y A KU T e B H 9 ST b 9ae
() YRT T Y =Tk TG % S STIdH =1 el ¢ |
(i) Taf= T & =0 e YR % ST 1T o 3THN T € |
(i) TSTe 3R Q9 aTerd, Gelad o =Iareid & SaTd 1 id & |
e

(1) A (i) 3 (ii) (2) wHEA (ii) R (iii)
(3) A (i) 3R (iii) (4) (@), (i) 3 (iii)
3. g - ﬁgﬁ llﬁwmﬁaﬁrﬁ%%ﬁﬁﬁaﬁwﬁﬁwwwﬁ
I

(a) ST 13 (i) TR & forw < fafe & Gey ¥ e

(b) T=T 15 (i) A= % AR AT TATT ST H Aoy

(c) 3T 20 (iii) &, T, STfd, form ar S T & 3TER WX 9eid 1 Hiauy
(d) =T 23 (iv) Tt IRl | 3T a1 got SATSRI Sl HH H dret B

he:
@@ () () ()
) (v) () @) (i)
(2) (i) () (iv) (i)
3 (i) (i) (@) (iv)
4 (v) (i) (1) (i)
4.,  9RA ¥ FEfGiEd § 9 9 9 G959 affd ot s@ iR siHataaanst & g9y 9 ‘arg-gnm
% TG § HEF HA § 2
(1) QeI SUhH FAf (2) QeSS STYETET At
(3) vTERRe @t (4) @ o |

5. 31 (A) 3 HRT (R) Sl U 31T A ST Fh T UFHT T SAH ST S |
AFHYA (A) : TGS & IHT ToAl R To9 fauFHed H IR & WU & SFad GHE
TorToTTeR o & |
FROT(R)  : OEHT € ¥ @ quTeged S i o & & S Eeis %8sy 3ih ST &
piczac il
&
(1) (A) 3R (R) 3 Tl & 71 (R), (A) H Tl &€ |
(2) (A) 3 (R) A W& €, W (R), (A) Tl el = T8 € |
(3) (A)Ter g, W (R) o & |
(4) (A) T &, W (R) W& € |
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10.

Which of the following are included in the list of Fundamental Duties in the Constitution
of India ? Answer using codes given below :

I. To uphold and protect the sovereignty, unity and integrity of India and the states

ii.  To defend the country and render national service when called upon to do so

iii.  To value and preserve the rich heritage of our composite culture

iv.  To develop the scientific temper, humanism and the spirit of inquiry and reform
Codes :

(1) (i), (it) and (iii) (2) (i), (ii) and (iv)

(3) (i), (iii) and (iv) (4) (i), (iii) and (iv)

Match List-1 with List-11 and select the correct answer using the codes given below the
lists :

List-1 List-11
(Articles) (Provisions)
(@ 40 (i)  Separation of judiciary from executive
(b) 42 (i)  Organisation of village panchayats
(c) 44 (iii) Provision for just and human conditions of
work and maternity relief
(d 50 (iv) Uniform civil code
Codes :

(@ (o) () (d)
L @ (i) (v) (i)
(2 () (i) (v) (D)
@) () (@iv) (@) (i)
@) (@) @(v) @) (i)

Which one of the following was not a recommendation of the Dinesh Goswami
Committee on electoral reforms ?

(1) State assistance to National political parties for elections.

(2) Maintenance of proper accounts of elections.

(3) Strict enforcement of model code of conduct.

(4) Video coverage of polling booths to check booth capturing.

Read the Assertion (A) and Reason (R) and answer by using the codes given below :

Assertion (A) : The system of Droit Administratif is not at all based on the doctrine of
separation of powers.

Reason (R) : The most original aspect of the French Administrative Law is the
independence of the administration from judicial control.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A)istrue but (R) is false

(4) (A)is false but (R) is true

Which of the following is not an essential element of the doctrine of audi alteram partem ?
(1) Person affected adversely must be heard.

(2) Fair and transparent procedure must be provided by authority.

(3) Reasoned decision must not be based on the satisfaction of the concerned authority.
(4) Authority concerned must dispose off the matter by a speaking order.
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6. fAfcfad ¥ ¥ 68 IRd % Qiaa & SFaid goT el S el | et o 7o & 2 9 &3
T el T SYIT H SR
(i)  YRA 31T T Bl WRIAT, Tehall 31T STESAT T T THAT 31T ST GIEI0T AT
(i) ST I T&TT HIAT AT STETAH B TR WIS ieTeh Yo UG BT
(i) QAP GBI Pl TGF R i Hewdl 37 q1 38 ST TG
(iv) S ATt AeeTs qer ST 31 GUR S e fashiad e

FH
1) (@), (i) AR (iii) 2) (), (i) 3T (iv)
(3) (i), (iii) 3R (iv) (4) (), (iii) 3 (iv)

7. g — | gE - 1| % ey gufed s iR it % A T e et i wEnT R weE S

T B

= - | = - 1
(=) (rTareT)
(@) 40 (i) AU T ~AAMAHT I STAT HAT
(b) 42 (i) o Tt S HiTeA
(c) 44 (iii)  =Eife X A S SRS SR UGfd Tad T W=
(d) 50 (iv) 9 fafaer G
T

(=N

@ (0 © ©
L O @) (@v) (i)
(2 (i) (i) (v) ()
(3) () (iv) () (i)
@) (i) (v) (@) (i)

8. ffcifad § & ®iF F fEAeT et gA1a gur |iafa s fawier 7@t of
(1) TET ST Sl 1 e & 7T T5T FerdT
(2) TE o 3fed feAE-fhae @ TE@-E
(3) TR fedT i T&f F ] HAT
(4) TAH HET W FHET B T SR M o fIT HagH sl T Sifear sHaRst

9. 3MWHU (A) 3R PRUT (R) W bR X gT el ST 7T el T ST i gT el ST Bl o

armeﬁr(A) . T Ty 3iw g UeMiReie® WfeRtal o JUeehol T TR T8 O 3TeTRd 761 ¢ |
FROT(R) T weares fafyy &1 qaifes ger wee] =faes s @ g o @ded ¢ |
E 4

(=N

(1) M (A) 2R (R) W& € @ (R), (A) i 9el A& 7 |
(2) THI(A) 3R (R) W&t & AfF (R), (A) i Tel =07 &1 § |
(3) (A) T g, foveg (R) T & |

(4) (A T €, < (R) Tl ¢ |

10. TF=fAfEd § @ S $E 9eT i GaTS & FGaid I STEavTh Tk 6l € ?
(1) viceer &0 & yeferd safer s et gl =iy |
(2) TR & gRT (9T 3R IR Uisha WS ol ST =1few |
(3) TR U Fafa MR o Fqfte W e el g =y |
(4) T TR T AT T (TIERT Ush TIEHRT TSI % §RT BT ey |
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11.

12.

13.

14.

Match List-1 with List-11 and select the correct answer using the codes given below :

List-1 List-11
(Name of Case) (Decision)
(@) Hira Nath Mishra (i)  The inquiry was vitiated as class IV
v. Rajindera Medical College employee has to defend himself against

officers, hence denial of principles of
natural justice.

(b) Bhagat Ramv. State of H.P. (if)  Principle of natural justice can be
exempted for the security of girl students
and girls could be testified in the absence
of miscreants.

(c) A.K.Royv. Union of India (iii) No deprivation of existing right enjoyed by
government servant without giving him
opportunity of being heard.

(d) H.L. Trehan v. Union of India (iv) Principles of natural justice are not rigid
norms of unchanging context, they have to
be tailored to suit the nature of the
proceeding.

Codes :

@ ® © @

L G @ ) i)

(2) (@) (i) (i) (iv)

@) (v @) ) ()

@) @) () (i) (iv)

A statute confers discretionary powers on an official for his use, by denoting expressions
like :

(@ Reasonable (b) Appropriate

(c) Equitable (d) Sufficient

Codes :

(1) only (a) is correct (2) Only (a) and (b) are correct

(3) Only (a), (b) and (c) are correct  (4) (a), (b), (c) and (d) are correct

Read the Assertion (A) and Reason (R) and answer by using the codes given below :

Assertion (A) : The court can direct competent authority to exercise discretion in
accordance with law but court cannot direct to exercise the discretion
in a particular manner.

Reason (R) . The Supreme Court strikes down a decision of competent autority on
ground of ‘extraneous consideration” and ‘improper purpose’.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

What is the objective of the Lokpal and Lokayukta Act, 2013 ?

(1) Toinvestigate the charges of corruption against public and private companies.
(2) To substitute the Central Vigilance Commission by the institution of Lokpal.
(3) To repeal the Lokayukta and establish Lokpal.

(4) Toinquire into allegations of corruption against public functionaries.
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11, 3= — | =0 gl — || o T gelfera i 3K glemt % e ST 10 el i i T Fel 37 1

T W
= - | = - 1
(AT 3T ATH) (Fruta)
(a) TP g T IS (i) S 3d g8 i Tqd Sul % HHART i St
Tfgshet ierst Y @ T T FAT UL, T THR F W = &

fgial sl T TR |

(b) TS I S fEETEet WSS (i) WTeh{deh = & fwia @ SEneT S e’ ® 3@ g

T T2 I ST Tl & SR DTATST Y TR Sl SUSAT Bl
srutefa # forar ST Thar ¥ |
() TH ITFAMIRA TS (jii) THR FHARI BT GATE T HiehT G 71 SHF TS
SATHRT | Sfad el foram ST Fehel |
(d) TEUSA. F&T I ARA G (iv)  WTHAE AT % (GG a5 g¢ e H %R Tél § 5%
HIEATET i TP P 3TTAR AT ST Thell & |
A

(=N

@ (b () (9
(V) @iy () (v) (i)
(2) (@) (i) (i) (iv)
(3) (iv) (i) (i) (i)
@) @iy () (i) (iv)

12. U Gfafy wew ARt o SHE A & fou efefea 4 9 g 99 @ wwRa s & fog
WWWW%?

(a) TRET (b) SUgH

(c) =Tl (d) g

he:

(1) ael (a) T | . (2) e (a) 3R (b) WENE |
(3) T (a), (b) 3T (c) T E | (4)  (a), (b), (c) 3T (d) W& |

13. 3R (A) 3R HROT (R) W o o 8T A KU 70 2 &1 ST e g0 el ST 1 =T

ANUH (A) : TR T GeTq WTehoT i afy & &Y @ o &1 891 § gt &
Afeh Ueh foreie alieh § -0 o o1 FeeT e & ek |

FROT(R) : Iooa™ A ‘ad e 3 eHfad TaisH’ & 3MER W TeTd TRl &
T U i fReq At ¥ |

&<

(1) (A) 3R (R) I Tt & T (R), (A) F & A8 |

(2) (A) 3R (R) I Tt & Al (R), (A) T W&t A7 &l ¢ |

(3) (A) T e, fog (R) T & |

(4) (A) 7T &, T (R) @& E |

14. RIS SR SHehRIeR Tefam, 2013 & Frfeiad § @ & 91 e ¢ 2
(1) HEste R HoTt St & oo T<=R & TR st Sirg T
(2) RIS i T % FRT H 1T Feshall ST 1 AT AT
(3) AR hl TR AT 3T TR ! TITIAT FHAT
(4) T Yol & a6 TR o TR St S AT
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15.

16.

17.

18.

19.

Which of the following declarations relating to assets and liabilities by a public servant are

to be made under the Lokpal and Lokayukta Act, 2013 ? Answer by using the codes given

below :

a.  Assets of which he, his spouse and his dependent children are jointly or severally,
owner or beneficiary.

b.  Assets of which he, his parents and children are owner or beneficiary.

c.  His liabilities and that of his spouse and his dependent children.

d.  His liabilities and that of his spouse, parents and children.

Codes :

(1) (a)and (b) (2) (c)and (d)
(3) (a)and(c) (4)  (b)and (d)

Which one of the following statements is incorrect ?

(1) InJurisprudence we are concerned to derive rules from authority and apply them to
problems.

(2) InJurisprudence we are concerned to reflect on the nature of legal rules.

(3) InJurisprudence we are concerned on the underlying meaning of legal concepts.

(4) InJurisprudence we are concerned on the essential features of legal systems.

Which of the following requisites are necessary to be fulfilled for a custom to be valid
source of law ?

(@) Reasonableness, antiquity and conformity with statute law.

(b) Immemorial antiquity, conformity with statute law and observance as of right.

(c) Specificity, efficacy and reasonableness.

Codes :
(1) (a) and(c) only (2) (a), (b) and (c) all
(3) (b)and (c) only (4) (a)and (b) only

Read the Assertion (A) and Reason (R) and give the correct answer with the help of codes

given below :

Assertion (A) :  Judges must follow authoritative precedents.

Reason (R) : Authoritative precedents derive their authority from basic postulate of
the legal system itself.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A)istrue but (R) is false

(4) (A)is false but (R) is true

Read the Assertion (A) and Reason (R) and give the correct answer using the codes given

below :

Assertion (A) : A person in possession of a thing is deemed to be the owner of the thing
possessed.

Reason (R) : Possession is as good as ownership.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A)is false but (R) is true
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15.

16.

17.

18.

19.

U WIeh Tofeh o §RT UREEEr X siigeal ¥ atd H=ianad § & A 97 Soomet i eeharel

3R iRt T, 2013 % STHTA fohal ST & 2 =i fSU e 3 TR 3T 3T 1T

(a) o UNEwiE, 5% 98, S Il Y 39 W S oo I ®7 9 370 gUh ¥ d
T ST AR & |

(b) o UREETEr, 57 o7, SH% ATa-Uar 3K s WrH 3T AReT ¢ |

(c) STHI M 3T IH W ST el T IHP 3 o=l o e

(d) STH M T IH W ST Tl ATAT-Toar 3T s o1 e

H

(01)' A (a) 3 (b) 2) (c) 3 (d) =
(3) A (a) HR (c) (4) e (b) AR (d)
Frfoiad o=t § 9 i 91 Totd & 9

(1) fofeme & gART TR MHSR A Fa0 e 3t S= Tersti T AN S § |
(2) fofemes ¥ TART TR 9y T B T i Uidered B € |

(3) fafuremes & TART AR oY STTURONS % Hewaqul 37 T & |

(4) Tofuems H eART WK oty yonteat st e fawedrst 9 € |

Tt ot Wig & B BT 39 A 8 & oy Ffeifad 5 T A Ot 3198t ewas & 2
(a) UGS, UTEHAT 3T HFA Sl SFTETT |
(b) RO AT, A 1 SFTEIAT SR YD & T H I |

(c) Tafmeedr, HoTacaTgahel SR SUgSRT |

e :
(1) & (a) 3K (c) 2) (a), (b) FR (c) T
(3) FaA (b) FR (c) (4) A (a) R (b)

AR (A) AT HROT (R) UigT 37 A= 5T T 2t ! Teraar § Gel IR S

AR (A) : =TT Sl AT Go-MHU= 31 SRR 37avd & aeT |

HROT (R) :msrrqﬁum% Te-fOTg STot rAfUTeRdT e fafy et o get TR a | e
|

ETE

(1) (A) 3T (R) IH & € 3R (R), (A) F & A=A |

2) (A) 3R (R) 4T Tl & 5 (R), (A) Ff &t =amer T&l § |

() (AT RFI (R) T T |

(4) (A T & g (R) W& € |

U (A) 3T HROT (R) UigT 3R = 5T 70 et i TerEar @ Gel SR ST
AR (A) : PIE AR THH Fost § HIE TIST & T ool ATt o] T WIH JHT ST ¢ |
HROT(R)  : FooTl liied ol Hifd & |

ETE

(1) (A) 3R (R) el € 3R (R), (A) i Tel == ¢ |

2) (A) 3R (R) T € &g (R), (A) H T&t =0T T8 € |

() (AT RFI (R) T T |

(4) (A) T & g (R) W& € |
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20.

21.

22.

23.

24,

25.

Read the Assertion (A) and Reason (R) and give the correct answer with the help of codes

given below :

Assertion (A) : A claim to recover a debt barred by lapse of time is an imperfect right.

Reason (R) : The statute of limitations does not provide that after a certain time a debt
shall become extinct.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)istrue but (R) is false

(4) (A)is false but (R) is true

The fundamental principle of legal positivism is to draw a clearcut demarcation between
law and morals, between law as it is and law as ought to be wherein the former is essential
in the nature of ‘command’ and latter being merely :

(1) routine and normal (2) persuasive and non-obligatory

(3) non-persuasive and obligatory (4) directive and non-persuasive

Which one of the following is not a theory of corporate personality ?
(1) Fiction theory (2)  Will theory
(3) Realist theory (4) Bracket theory

Match List-1 with List-1l and give the correct answer by using the codes given below the
lists :

List-1 List-11
(Theory) (Jurist associated with)
(@ Interest theory of legal rights (i) Duguit
(b) Realist theory of corporate (i)  Thering
personality
(c) Doctrine of social solidarity (iii) Gierke
(d) Doctrine of social engineering (iv) Pound

Codes :
@ ) (@ (@
1) iy @) (@) (i)
(2 (i) (i) (1) (i)
@) (v) (@) (i) (i)
@) (i) (@) (i) (v)
Doli Capax is the principle which decides -
(1) Immunity from punishment as there is no understanding of the consequences.
(2) That there was discern between good and evil for which punishment would be
justified.
(3) Proof of innocence would ipso facto be an answer for imposing a sentence.
(4) Before punishing a person his immaturity of intellect is to be assessed.

The law is clear that consent of the party becomes immaterial when the very act itself is
unlawful. In which of the cases there could be an exception ?

(1) Prize fight

(2) Advantage taken in a game of fencing

(3) Aiding and abetting in a game of boxing

(4) Negligent while sky-diving
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20.

21.

22.

23.

24,

25.

H (A) 3 HROT (R) TeT AR = 5T 70 i 1 Gererar ¥ et $o% i

AMIHYA (A) : THT F T & o FRT S 07 1 TG 1 I 307 SAHR ¢ |
FHROT(R)  : OREMT HFA I€ TG &l Il [ HIadd T9F & qeard 0T FHIG & ST |
T

(1) (A) 3R (R) W&l € 3R (R), (A) Tl Tel AT ¢ |

(2) (A) 3R (R) W&l & &g (R), (A) P &l =& =i ¢ |

(3) (A) T g fhg (R) Tord & |

(4) (A) 7o g g (R) WET & |

fafy wererars 1 Oe1 fagra S SR AT & o, S 9 & § SR SR S AT e &
e e Wi & IS TEeT CSTRer & w T H AaE € SR 38 A

(1) AR | (2) SR R AR T |
(3) TR-3MFE 3R AFFR T | (4) TRTeAS 3R TR-STET |
fefeIiad § | i SHUNe safdced o [Fg 7l € ?
(1) wfeud fagTa (2) === \E
(3) e famTa (4) wrew faer
@%ﬁ@—ll%w@ﬁaﬁﬁqﬁrgﬁﬁ%ﬁﬁqw@wmﬁwaﬁww
T
= - | = - 1
(Fagm) (GEIRRRTIEEE)

() T AR 3 AT T5H (i) T
(b) Fafere @R’ oiw $oRe wHedr (i) @R

(C) =M st Hvwt wRRA (i) frr
(d) TR ST Tt ST (iv) UsvS
AN

[N

@ 0 © O
@ Gi) @) @ W)
@ Gi) Gi) @ @)
@) ) @) i) (i)
@ Gi) @ @) W)

Sictt T g7 fasia & S faffved et &

(1) = I, Fifeh TROTHT ! TH Fél erell ¢ |

(2) o= AR P H FH A A&l A EF e 3ug =it g |

(3) TSITOAT b1 T Teard; USSR e T TR & |

(4) T AT P 3vSd HA W YA ST Fheg i STARTIAT B e HAT AT |

faty T dey ¥ e € T Tl uet o6 Teufd #1531l &l 3@l € 519 B @ fafu-faes & | 9%
FrefefEd & | foo AMe § 3{9es & Hohal & 2

(1) TR IE (2) eAfashrer # foran e e

(3) difeRaT o et H Werdar AR gURT  (4) g SEfenT % SR SueT
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26.

217.

28.

29.

30.

31.

32.

The apprehension of the use of criminal force must be from the person making the gesture,
but if it arises from some other person, then what offence, if any, has been caused ?

(1) Common intention to cause assault (2) Common object to cause assault

(3) Criminal force (4) No offence

For convicting a person the state must rule out the possibility of an accidental death in a

case of dowry harassment because the law requires :

(1) That the death occurred otherwise than in normative circumstances.

(2) The demand for dowry is not evidenced as the following consequence of death.

(3) The mitigating factor of death do not reveal any demand as to dowry but there was
breach of promise to provide dowry.

(4) The rule of presumption, in the absence as to the demand of dowry provides
contrary jurisprudence for convicting the accused.

In the eventuality of grievous hurt becomes culpable homicide not amounting to murder
the injury which is actually found should itself be such that it may put the life of the
injured is danger, was decided in the case of :

(1) Maung Po Yi.V. Mo E Tin

(2) Government of Bom. V. Abdul Wahab

(3) Muhammad Rafi V. King

(4) Bishnovnam Surma V. King

A snatcher cut the nostrils of a woman and committed grievous hurt and later she died.
What offence if any, he has committed ?

(1) Voluntary causing grievous hurt of serious nature

(2) Grievous hurt and murder

(3) Accidental death while extortion was committed

(4) No knowledge as to the condition of the deceased, so offence

The restrainment of a person in a place or compelling the person to go in a particular
direction with an exterior motive will amount to :

(1) visitto shrine

(2) custodial imprisonment

(3) wrongful confinement

(4) confinement against the will of a person to administer enema by the doctor

Which offence is outside the range of culpable homicide in view of the fact that the
accused had neither intention nor knowledge about the consequence, yet it is punishable ?
(1) When the injury results due to carelessness

(2) When the mishap happens due to rash and negligent act

(3) When the contributory act was voluntarily done

(4) When the act resulted in course of exaseperation

The total forest cover in our country is far less than the ideal minimum of 1/3 of the total land.
Therefore the Parliament by 42™ Amendment to the Constitution has added two more Articles
to ensure improvement of environment and impose duty on every citizen. They are :

(1) Art31Cand51A (a) (2) Art48 Aand51 A (9)

(3) Art39Aand51A (b) (4) Art31Dand51A (d)
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26.

27.

28.

29.

30.

31.

32.

MR ST o WFNT ST 3TRThT AT e aTet AT © & el aey, W A I [l 37
Sl I BT &, O B T ST, A e &, BN eI § 2
(1) &HeT HEH o FHHE R (2) &HCAT XA HT FAM 2

(3) T T (4) IS TURTY TEl

TEST IS & A | Tohdt =AfeRT bl TGlg % fTT 159 i AT 5 98 FHAT Gog i G-

Y R Y, Fitep fafa ¥ g emferd &

(1) T g gmr= aRfeIfaar it Siget Tfed g8 |

(2) g % URUTHEET &S ! HIT T Tre =l (et & |

(3) T % FAFRE T TE UH Tal H & [ SeoT I Hig AN 1 T8 oY, T e 5« A
T AT WG E |

(4) ST D HET DN TE & THP TG H, TIUROT T 92, ST BT 0G5 B o oI T eTshet
faferemes 1 SueY FaT € |

IR STRld o URUTEEET qFa 94, ST gl -l ¢, & §H W arad § g &ifq gt =iy i
e I oTet AT % e B Tl H et bl €, J (01T {5 amet o foran ma

(1) =R, s A € feA (2) TE TWHR M FGFA TeTd

(3) YETE TR ST foRT (4) ToeAET gar s=m

IS FUHAR [hTT TR i AT HledT ¢ 3R =X IUETT HIRT HAT & 31X 915 § 39 HEel o g
2l STl &, S IF 9T 3Ty, afs e &, feram & 2

(1) TR Tl i TR STl WresT ¥ HiNd ]

(2) =R 3Ueld 2% g

(3) SEUA % IR FHSAT Y HIRA &5

(4) T I IV F TR F g THBR Tal, TAT STRY & |

Tt =Ter 32 ¥ Tt safad & fohdt T B WasT S W Uk o AT Rt foeie fgem 9 5iH &
ToTT HSTeT ST T ST

(1) e goteere 1 SR

(2) SRS HREAE

(3) TR Uy

(4) ST R U KU ST o fou el st ol 3ot % foaeg uiay

T q2F I A | @ gV b I T A A HIE S o7 3 A & 3T UROTH St SHBRT off, i
T I TG Y D WA § e 7 T §, T2 Tg JUSHI ¢ 2

(1) T &ifq, ATRETET % HROT g8 &l

(2) ST gHAT SATEeIa 31 SULTYUT 1 % PR g8 &

(3) ST AR I SRR fohaT T &t

(4) T A ST F IR g &

mﬁ%ﬂﬁ%mméﬂ,ww%:ﬁm%m,ﬁW?@%%@w%W
TS 7 429 HoHTHE G FRT &1 31X ST IS ohU § AIfeh qarerer § uR grrvad fwar
ST G 3 Tedieh ANeh ol Sheled Qi1 ST Hb 19 €

(1) 3% 31C 3R 51A (a) (2) 3TT=T 48A 3R 51A (g)
(3) 3T 39A 3R 51A (b) (4) 3T 31D AR 51A (d)
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33.

34.

35.

36.

37.

Paper-I111

The Supreme Court held that, “the precautionary principle has no applicability in this case
as the gains and losses of building a big dam are predictable and certain”, in one of the
following case :

(1) M.C. Mehta V. Union of India

(2) Narmada Bachao Andolan V. Union of India
(3) State of M.P. V. Krishna Das Tuka Ram

(4) S.Jaganath V. Union of India

Which one of the following has been described as the “Magna-Carta” of the environment ?

(1) Rio declaration

(2) Thilisi declaration

(3) The Stockholm declaration

(4) Environment product declaration

Match the item in List-1 with the item in List-11 using the codes given below :

(@)

()

(©)

List— 1|
No reason to compel non-smokers to (i)
be helpless victims of air pollution

Noise pollution cannot be tolerated (i)
even if such noise was a direct result

of and was connected with religious
activity

Duty to protect the natural resources (iii)
applying the principle of public trust

List—11
Church of God (Full Gospel) in India
V. K.K.R. Majestic Colony Welfare
Association
S. Jaganath V. Union of India

Murli Deora V. Union of India

(d) Pay compensation for reversing the (iv) M.C. Mehta V. Kamalnath and others
ecology and compensate the
individual for loss suffered

Codes :
@ O © (@

Q) G @) Gv) (i)

(2 Q) iy i) (iv)

(3 () Gv) (i) (i)

4) (v) () (i) (i)

The Supreme Court constituted Bhure Lal Committee to examine and report the low
sulphur diesel as a clean fuel to be used by vehicles in one of the following case :

(1) Research Foundation for Science, Technology and Natural Resources Policy V.
Union of India

(2) M.C. Mehta V. Kamalnath

(3 M.K.SharmaV.B.E.L

(4) M.C. Mehta V. Union of India and others

Read the Assertion (A) and Reason (R) and answer using codes given belows :

Assertion (A) : All natural resources are held in trust by the government. The doctrine
enjoins upon the government to protect the resources for the enjoyment of general public
rather than to permit their use for private ownership or commercial purpose.

Reason (R) : The public has a right to expect certain lands and natural resources to retain
their natural characteristic in finding its way into the law of the land.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)istrue but (R) is false

(4) (A)is false but (R) is true
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33. Seaaw e F FEfafed ° 9 g o o st o i qetaumt fagia 3w ame | oy
T & Wb Hih T T S T F AN SR A & qN T A{TeIaon H ST Fehedl § R
g9 FAfgeear g € 2
(1) UH. . Hed 9 9 ¥4 (2) U TS G ST TR G
(3) HEH U TSF S FURE THRE  (4) T, ST A TR T

34. Tye=feifaa § § fr8 qaieRor s “Sreher’ @i {6 T & 2
(1) Rt = (2) feafers grom
(3) XrewEM =IO (4) TEEROT 3T T

35. ﬁﬁ%@m@wwﬂwaﬁ | &6t =it — || & goferd &Y
=t - o]

(a) quﬁa@aﬁaﬁgmwwﬁf@ﬁ (i) =9 3 TS (Fo M) T e
T & TT AT e T hIE HROT R € | A o, 3R, A HicT
FA%RI T
(b) g wafT vguor fohdt enfhes Tifdtaty &1 oo & (i) T, ST SHE 9Rd 99
7 3HY e g3 & o off 3 e @l fopar

T |

(c) WESiE = % fogid & o #R A9 (i) Rl e 9 R 9"
GATEAT Y T HA B FAA |

(d) TRRETqe o foaadia & & % fold qamas o1 (iv)  TH.9. Heal a9 HHeHe U9 3
qAT g2 B % foTw =t ot atfeafa & |

@ () (c) (d)
(1) () (1) (v) (i)
(2) (@) (i) (i) (iv)
(3) (i) (iv) (i) (i)
(4) (v) (i) (i) (i)

36. STITH R % HHEfRad § ¥ U6 ToheH H W $H o ©Y § deAl B S&iTet fRT S oot
Al GoHT SISTel i ST T RIS 37 % TIT o¥ &Arer |ffe &1 e fomar o
(1) RO FESIE ®R L, THIAST TS TgRel RETast uifed! a-m Rd 99
(2) UGG HEdl S HHCHT
(3) TUHF, IH ST I,
(4) THH. HEd S 9RT 99 Y 3

37. SRR (A) 3R HROT(R) i U6 3 A T 7T H2f 1 W IS

ANHT (A) : TWHR FRT Tl Thiaes TaemT 1 6 = () W @1 S § | 98 fogid
TWHR B ST 3T Avicges YFioH I B o oIoTd 39 ST & 3R & [T
T IcTeh TTEAT ht TRIRTT X & TTelg Xl & |

BHROT(R) ;ST S F& STHIAT 31T TTpiaeh TATFT 1 370el Ta i SR & alfeh a8 390
% A § TR T ¢g o [T 19T Uiepfieh et s ST 3@ 9 |

he:

(1) (A) 3R (R) W&l & @ (R), (A) F T&l HRUTT |

(2) (A) 3R (R) Tl &, R (R), (A) T T&t HRT T&l & |

(3) (A) g, 3R (R) Mo ¢ |

(4) (A)Ted &, 3R (R) W ¢ |
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38.

39.

40.

41.

42.

43.

“Cases involving issues of environmental pollution, ecological destruction and conflict
over natural resources are on the increase and hence setting up of environmental courts on
the regional basis with one professional judge and two experts drawn from Ecological
Science Research Group is necessary”, was observed in one of the following case :

(1) M.C. Mehta V. Union of India

(2) Bittu Sehgal V. Union of India

(3) T.N. Godavarman Thirulmulpad V. Union of India

(4) A.P.Pollution Control Board V. Prof. M.V. Nayudu

Who has remarked that International Law is the vanishing point of Jurisprudence because
in his view, rules of International Law are followed by courtesy and hence they should not
be kept in the category of law ?

(1) Prof. H.L.A. Hart (2) J.G. Starke

(3) Louis Henkin (4) Holland

In which of the following cases the World Court by majority has taken the view that the
sources of international law are not hierarchical but are necessarily complimentary and
inter-related ?

(1) Nicaragua V. U.S.A.

(2) In North Sea Continental Shelf case

(3) Inthe Barcelona Traction case

(4) Frontier dispute (Burkina Faso V. Mali)

Who has remarked that the wide acceptance of declaratory theory is due to the reaction
against the traditional conception of recognition as a political act purely and simply. There
is a legal duty on the part of the state to recognise any community that has in fact acquired
the characteristics of statehood ?

(1) L. Oppenheim (2) Hans Kelson

(3) Lauterpacht (4) Anzilloti

In which of the following cases the Supreme Court clarified the distinction between
‘expulsion’ and “extradition’ following international norms ?

(1) Mobarak Ali Ahmad V. State of Bombay

(2) Hans Muller of Nurenburg V. Supdt, Presidency Jail, Calcutta and Others

(3) Dharam Teja’s case

(4) Ram Babu Saxena V. State

Which of the following statement/statements is/are correct ?

(@) By asylum we mean shelter and active protection extended to a political refugee
from another state which admits him on his request.

(b) Under Article 14 of the Universal Declaration of Human Rights, Right to asylum is
recognised.

(c) International Court of Justice explained the distinction between territorial and extra-
territorial asylum in the Asylum Case (Colombia V. Perus).

(d) In 1966, the United Nations declaration on territorial asylum was unanimously
adopted by the General Assembly.

Codes :

(1) Only (a) is correct. (2) Only (a), (b) and (c) are correct.

(3) Only (c) and (d) both are correct. (4) (a), (b), (c) and (d) all are correct.
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38.

39.

40.

41.

42.

43.

“TRITEROT WGHUT, TN s 3i] Wiehicish Qe W foame § 58 9 98 ® €, g9 Uh
USSR AT 3R TRIcH ool Ted KT J0 § 3F fowiosii & oo &6 3R W uaieroia
AT T fFT ST 3Tevg s § 17 T ot # etarer fear man

(1) THH. Hed s IR 99

(2) fog Gl T YRA €Y

(3) ATAMREHT fTeeTerars s YR 99

(4) Y TS FEHOT FEAY S AW WL THAL TEg

TetetEd & 9 ae fae #oe ¢ & oiauia fafy fafeme 1 sifqy fowg &, it 38 foar
H, R faty & Fadl 1 orEeer Remr & R 69T ST € 31X 39 TR 9 3% [ &t
SO &l T&T AT 2

(1) WHR TITAT, T (2) SIS =

(3) TEH e (4) wrivs

frefafed & @ g et | fave =™ 3 9gad § 39 faear &t 9 ¢ fe oiare fafy &
BT Lolieg Tal & T STavgeh ¥ ¥ Reh 3R RO Taired g 2

(1) FERAET s° M AU, (2) =T G HiEHEA ow T H

(3) STEEIT ST Tt (4) TheR feoe (FRaAT ST AT HTeth)

ffefed § 9 9 fhge %99 ¢ o aonEss [9eEia o smue @igd W 3K 9ot ®9 9 U6
ToTifes SAafam & TR T JT S TRURS STTEROT % foeg Uik & $RoT & | fohdt 9qe™
T TAAT ST T 1 AT B & S arad § Toaed bt eIt bl Suisid 8 o & 2

(1) ue. e (2) & FeE
(3) wieXiE (4) e

fr=fefad o @ 5 Ame ¥ Ssadq =IEed F SO WG H AR Fd g e
R “Teaqur o g 9SSl e AT § 2

(1) YIRS 3Tl 3TEHT T arl T

(2) &9 Yo Ak AT s PHiere UGS~ SIe, Fetshdl 3 31T

(3) & TS T AT

(4) T I G A T

fefeIiae oMl | @ i ° el 28 2

(a) IR A F EURT SUUE U ISP RO 1 &1 Wl IR0T X Al GRem ¥ &, S
STH FY W 3 T 3Y Wi TgH HAT & |

(b) TFEIYHR S AEHIHE SI0T & TS 14 & ST IXOT T ATIHR ATl U & |

(c) I AT F THEAR HY (AN sHH TRE) T & X -85 & 99 o9g
F T fFa e |

(d) 1966 T, &= RIS T TIFT T Dl ST T 3T AT FRT FEqwid & WHeR fomar

T |

e

(1) oA (a) TEIT | (2) A (a), (b) T (c) T E |
(3) e (c) 3 (d) I T E | (4)  (a), (b), (c) 3T (d) TN T T |
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44,

45.

46.

47.

Which of the following statement/statements is/are not correct in reference to the

Economic and Social Council (ECOSOC) ?

(@) The Economic and Social Council (ECOSOC) consists of 54 members which are
elected by General Assembly.

(b) Half of its members are elected each year for a term of two years.

(c) Indiais one of the members of the council.

(d) President of ECOSOC is elected for two year term.

Codes :

(1) only (d) is not correct.

(2) (b) and (d) both are not correct.

(3) only (a), (b) and (c) are not correct.

(4) (a), (b), (c) and (d) all are not correct.

Under which Article of the United Nations Charter, the Security Council is empowered to
implement the judgements of the World Court in case one of the parties fails to implement
it and other party to the dispute brings the matter to the Security Council ?

(1) Article 94 (2) Article 96

(3) Article 62 (4) Article 36(5)

Read the following propositions and give correct answer with the help of codes given

below :

Propositions are :

(1) A voidable Hindu marriage is regarded as a valid marriage until a decree annulling it
has been passed by a competent court.

(i) A void Hindu marriage is never a valid marriage and there is no necessity of any
decree annulling it.

(ii1) A void Hindu marriage remains valid until a decree annulling it has been passed by
a competent court.

(iv) Children of void and voidable Hindu marriages are legitimate.

Codes :

(1) Only (i) and (iii) are correct, but (iv) is incorrect.

(2) (i), (i) and (iv) are correct, but (iii) is incorrect.

(3) (1), (i), (ii1) and (iv) are correct.

(4) (i) and (iv) are correct, but (ii) and (iii) are incorrect.

Match List — I and List — Il and find correct answer by using codes given below :

List— I List—11
(Case Law) (Decision)
(@) Seema V/s Ashwani (1) Cruelty as a ground of divorce
(b) Githa Hariharan V/s Reserve Bank of India  (ii) Maintenance of Muslim wife
(c) V.Bhagat V/s D. Bhagat (iii) Compulsory registration  of
marriages
(d) Mohd. Ahmad Khan V/s Shah Bano (iv) Mother as natural guardian

Codes :

@ (b (9 @
Gy (@) (i) (iv)
(2 (@) (i) (v) (i)
(3) (i) (iv) () (i)
) (iv) @) (@) (i)
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45.

46.

47.
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qsﬁ;%ﬁajﬁ— || & |1 GAETT HINTT 3R graat & - ST 7TT Hei 1 TEHT H Gel 3T A

=T Y

oiea |

= - |
(Ferota farfir) (Ferotan)
(a) GT S Y (i) TqATH & SR & &Y H el
(b) e e S (i) i gedt 1 aRor-gigoT
IR {1 5
(c) @ wiasAm St  (iii)  foemel @ e IS
(d) memE  3EHET  @H (iv)  HEiTe Gt % ® H A
T T I
A

[N

@ (0 () ()
(1 @y (@) (i) (iv)
(2 () (i) (v) (i)
(3) (i) (iv) () (i)
@) (v) (i) (@) (i)
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48.

49.

50.

51.

52.

53.

Which of the following is not a condition for a marriage under Section 5 of the Hindu
Marriage Act, 1955 ?

(1) No Sapinda and prohibited degree relationship

(2) Mental capacity

(3) Monogamy

(4) Free consent of the parties

Read the following and answer with the help of codes given below :
A married Hindu male can adopt a child :

(i)  Only with his wife’s consent.

(i) If he has more than one wife, consent of all the wives is necessary.
(iii) In case of void marriage, consent of wife is necessary.

(iv) In case of voidable marriage, the wife’s consent is necessary.
Codes :

Q) (1), (i) and (iv) are correct but (iii) is incorrect.

(2) Only (i) and (ii) are correct.

(3) (i), (i) and (iv) are correct, but (i) is incorrect.

(4) (i), (iii) and (iv) are correct but (ii) is incorrect.

The most proper or approved form of divorce among Muslims is

(1) Triple talak (2) Ahsan talak

(3) Hasan talak (4) Talak-al-biddat

Which of the following is not a ground of divorce under the Hindu Marriage Act, 1955 ?
(1) Leprosy (2) Insanity

(3) Epilepsy (4) Veneral disease

In default of the mother and female relatives, the following persons are entitled to the
custody of a Muslim child :

(i)  Nearest paternal grandfather

(it)  Father

(iii)  Full brother

(iv) Consanguine brother etc.

Among the aforesaid the correct order of priority is :

Codes :
(1) (), (i), (iii), (iv) (2) (i), (i), (iii), (iv)
() (iv), (i), (i), (iii) 4) (i), (i), (i), (iv)

Under the Muslim Women (Protection of Rights on Divorce) Act, 1986, besides the
former-husband of Muslim woman, the following relatives etc. are also liable to pay
maintenance to her :

()  Children

(it)  Other relatives

(iii) State Wakf Board

(iv) Parents

Give the correct order of liability of the above with the help of codes given below :

Codes :

(1) (), (i), (i), (i) (2 (), (i), (i), (iv)

(3 (@), (i), (iv), (iii) (4) (1), (iv), (i), (iii)
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48.

49.

50.

51.

52.

53.

femg faame afufam, 1955 =t 4R 5 % ST Fefeiad 9 § B foeme o 9d T2l § 2
(1) i Fite 3R ufafteg feult gey T&t

(2) HHRIE ST

(3) U fuaTE

(4) U WA Fedrd

freAfeiiae =t uigT iR e ST 7T 2l it FErE ¥ el 3 &M
T fqated f&=g T aTeTeh 3 TEUT Y THAT ¢ |

(i)  hoeT TI Ut T HeAd H |

(i) 3% ST TH T AH et & dF Tt i bt Wedrd 9 |
(i) I ToaTE % A | Ul H FeAld STEvIF ¢ |

(iv) IR foame & et § ot ot Hehtd STevas ¥ |

£ 4

1) (i), (i) 3R (iv) T &, T (iii) T |

(2) e (i) 3R (ii) TEHE |

(3) (i), (iif) 3 (iv) Wel &, fofg (i) TeAT & |

(4) (i), (iii) 3R (iv) &I &, g (i) Tq € |

AieeTd T Faitas Tgfad a1 Tihd o B 89 §

(1) dF 9R qorss (2) 3TEEH qOTEH

(3) 'Y qeTH (4) a3 faEd

fe=g foame sifufrem, 1955 & FaTq =TeRad o & PIF Tolreh Sl SR Tal ¢ 2
1) < (2) 9T

(3) ful (4) et T

ﬁﬁg@%ﬁéﬁﬁaﬁqmﬁ?@%ﬁﬁmﬁf@ﬁﬁ@aﬁquﬁagﬁﬂnwaﬁaﬁmw
THER E 2

(i) Theam Ige fuame

(i)

(iii) | WTE

(iv) TS TS TS

TSR | 9 TTIHehdT T el Y &

T

@) (), (i), (iii), (iv) (2) (i), (i), (iii), (iv)

(3 (iv), (i), (i), (iii) (4) (i), (i), (i), (iv)

AT FHT (TR 36 T3TH 3 SHeH) UF2, 1986 & 3T qRe™ Afeem % a0 Uid &
Wﬁﬁﬁ! cfae el sl off S8 SROT-GI9T 67 e A F FoIw STeErEt €

(i =

(i) o gadr

(iii) T TFH S

(iv) HTar-Tar

T 5T 7T Ft T TEdT F ST P SRS BT Tel hH TS

e

(1) (), (i), (i), (i) (2 (), (i), (i), (iv)

(3 (@), (i), (iv), (iii) (4) (1), (iv), (i), (iii)
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54.

55.

56.

S7.

58.

59.

60.

The Vienna Declaration and Programme of Action on Human Rights was adopted by the
World Conference on

(1) 25" June, 1993 (2) 10" June, 1994

(3) 15" June, 1995 (4) 25"™ June, 1996

Which one of the following slogan was adopted for the Fiftieth Anniversary of UDHR ?
(1) “All Human Rights for All’

(2) “Save the Child’

(3) “Women Empowerment”

(4) “Clean Environment For All”

Which one of the following countries originally suggested the idea of an International
Treaty on the Rights of the Child ?

(1) United States of America (2) China

(3) Poland (4) India

‘It is my aspiration that health will finally be seen not as a blessing to be wished for, but as
a Human Right to be fought for’. It was said by

(1) Dr. Lee Jong-Wook

(2) Dr. Boutros Boutros Ghali

(3) Barack Obama

(4) Kofi Annan

Match List — I with List — Il and select the correct answer using the codes given below :

List— 1 List— 11
(@) Convention relating to the status of Refugees () 1948
(b) American Convention on Human Rights (i) 1963

(c) American Declaration of the Rights and Duties of Man (iii) 1950

(d) International Convention on the Elimination of All Forms (iv) 1969
of Racial Discrimination

Codes :
@ ® (© (9

@) i) (v @ (i)

(2 (i) (i) (v) ()

@ ) Gi) @) @v)

4) (v) (@) (i) ()

The General Assembly of the United Nations created the office of UN High
Commissioner for Human Rights in the year :

(1) 1993 (2) 1994

(3) 1995 (4) 1996

Under Section 3(2) of the Protection of Human Rights Act, 1993 the Chairperson shall be
(1) one who has been a Chief Justice of the Supreme Court.

(2) one who has been a Chairperson of a National Tribunal or Commission.

(3) an Eminent jurist in the field of Human Rights.

(4) ajudge of the Supreme Court who served not less than five years.
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54.

55.

56.

S7.

58.

59.

60.

T SuoT Y AR Geet STl ShT P v T gRT S Wi Rt T 2
(1) 25 SH, 1993 (2) 10 S, 1994
(3) 15 SH, 1995 (4) 25 M, 1996

J TR, T 50e TS & 7T B AT ART THHR BT 727 2

(1) T % T Tt AHEesR (2) ‘et P TS

(3) ‘TféeT FeTERIEHOr (4) it % T e TateRr

frfataa 5§ fohg 397 3 SToTehl & SR Fadl SeRTsed |l 1 Gerd gof ®9 F 527 o 2
(1) FATEeS W 3N 3R (2) ==

(3) UevE 4) WRa

‘B Tg STeheT & o g i 37 Uh UH oI o ©F § = @7 ST STEh! &7 o1 i &l
31, 8 A SAMUHR & T | @1 ST 5T {o1T a1 S 96 1 98 g T o1 2

(1) =i < Sges (2) <. JoRE A =l

(3) = T (4) HIR =

el — | 0 el — |1 % W Grferd B SR greai o = i 7T Fet 61 3T w5 GEl T

T
= - | =t - 11

(a) TROMMAT o Uiiedtd & et as (i) 1948
(b) TG 3NMUHRT Waet TR N (i) 1963
(c) =AferT & TUHRI T FHeieA i STEID! =0T (iii) 1950
(d) T 9yd & @t T % Iged gaEt (iv) 1969

I AT
&

@@ () () ()
@ (i) (v) @@ (i)
(2) (i) (i) (v) (i)
@ (@) (i) (i) (iv)
4 (v) (i) (i) (i)

T T T Herq J {59 a9 § g AfeRi & fou S T T STEge & e S
go e 2

(1) 1993 (2) 1994

(3) 1995 4) 1996

T 3R TIRI0T SAFEE, 1993 T URT 3(2) & ST 3Tea8T 8 AT &I
(1) ST Soadq =T S 9 =rEgid T8l |

(2) ST AT AT AT ITINT BT 37T T & |

(3) THa ABHRI % & H Th @A =rafeg

(4) STITHE R T AR T 5 T & 3T H Tl Bl |
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61.

62.

63.

64.

65.

Match List — I with List —I1 and select the correct answer using the codes given below :

List— 1| List— 11
(Case) (Maxim)
(@) Bhim Singh V. State of J & K (1) Damnum sine injuria
(b) Municipal Corporation of Delhi V. Subhagwanti (i) Injuria sine damnum
(c) Nichols V. Marsland (i)  Res ipsa loquitur
(d) Mogul Steamship Co. V. McGregor Gow and Co.  (iv)  Vis major
Codes :
(@ (b)) () (d)

(1) @ (@) (i) (iv)

(2)  (iv) (i)

(i) (1)

(3) (i) (i) (iv) (i)

4) (i) (@)

(v) (i)

Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) :
Reason (R)

Codes :

Making statement of fact on matters of public interest is a defence to an
action for defamation.

If defendant in a newspaper publishes a statement of facts making
serious allegations of dishonesty against the plaintiff, and subsequently
could not prove the truth, the plea of fair comment shall fail as based on
untrue facts.

(1) Both (A) and (R) are right and (R) is the correct explanation of (A).
(2) Both (A) and (R) are right but (R) is not correct explanation of (A).
(3) (A)isright, but (R) is wrong.
(4) (A)iswrong and (R) is right.

The prescriptive right of easement of access and use of light and air can be acquired if it

has been :

(@ Enjoyed with interruption

(b) As a matter of concession

(c) Enjoyed without interruption as right
(d) For twenty years

Codes :

(1) (a) and (b) are incorrect and (c) and (d) are correct
(2) (a) and (d) are incorrect and (b) and (c) are correct
(3) (a)and (c) are correct and (b) and (d) are incorrect
(4) (b)and (a) are correct and (d) and (c) are incorrect

Which of the following is not true about the slander form of defamation ?
(1) Statement is made in some transient form.

(2) Itisaddressed to ear.

(3) Slander is always a criminal offence.

(4) Itis notactionable in absence of proof of actual damage.

Arrange the following cases in the chronological order by using codes :
(@) Municipal Corporation of Delhi V. Sushila Devi

(b) Shyam Sunder V. State of Rajasthan

(c) Pushpabai V. Ranjit Ginning and Pressing Co.

(d) Syad Akbar V. State of Karnataka

Codes :
(1)  (d), (a), (b) and (c) (2)  (b), (c), (d) and (a)
(3) (b), (a), (c) and (d) (4) (), (b), (c) and (d)
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61.

62.

63.

64.

65.

Tt — | =0 el — 1 % 9 Rl i SR gieal & e 5T 1T el T e S

T
= - | = - 1
() (wfm)
(a) i T ST 3T HTHR T (i) T &3t o @
(b) ﬁwﬁwﬁmww——cﬁ (i)  fomm e & etfq
(c) T - AReiE (i) == AT
(d) et LT &, 99 FEIR T W HUA (iv)  SE $e
%<

@ (b (c) (d)

(1) (@) (i) (i) (iv)

(2) (iv) (i) (i) (i)

(3) (i) (i) (iv) (i)

@ @) (@) (v) (iii)

MTHT (A) 3R BROT (R) T T 3R = T F2it T 71T R SRS

ATHUA (A) : TAIhled & ol T TR Fekied ST T & ol HRaTS Hh Udag & |

HROT(R) ;95 uidemsl TR U qeawes daeaded Y il § oy arl & foasg
T 1 TR STRT o € A7 9% § HF ol [iiod 61 L I g, Sfaa feuot &
SNTEE 3T T W MR & & | okt BT |

&<

(1) (A) 3R (R) 3 Tl & 71 (R), (A) & Tl = e |

(2) (A) 3R (R) IH & €, I (R), (A) Ft Tel e =& € |

(3) (A) Wl g, g (R) ToId & |

ol (mﬁ(m@%l o TENT % FeRIieR R st 2tfster e Tl

TBIRT T ST e pra

?f? W%WWW%W%I

(b) TEmEa F fau & 9§

(c) Tomn o™ & eAfeh R o & | STHNT fohan STar W e |

(d) THIHAE |

%<

(1) (a) 3T (b) ToTd & TAT (c) 3R (d) W€ |

(2) (a) 3 (d) TAT & TAT (b) 3 (c) W& & |

(3) (a) 3R (c) el & TqAT (b) 3R (d) T & |

(4)  (b) 3R (a) T & TAT (d) 3R (c) T & |

fAfafEd ¥ ¥ 9 A & SUHH-oaT % a1 § 9 T8 § 2

(1) ot ot ®9 § fgar Tar aefe |

(2) & G o forg Frsifere b T E

(3) STUHF-IE TS Tiesh TR & |

(4) W%ﬁ%w%mﬁwwwwqﬁ%

ﬁmﬁf@ﬁwaﬁﬁwmmmmﬁaﬁﬁm

(a) TEoet TR 7 T geien <ot

(b) v T I T

(©) AW TS T o U et

(d) 3THER. T AT T

1) (@), (a), (b) 3 (c) (2 (b), (c), (d) 3 (a)
(3)  (b), (a), () FX (d) @)  (a), (b), (c) FX (d)
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66.

67.

68.

69.

What are the rights of consumers which are to be protected and promoted by Consumer

Councils under the Consumer Protection Act ? Answer by using codes below :

(@) Protection against marketing of goods and services which are hazardous to life and
property.

(b) Information about quality, quantity and price of goods and services.

(c) Access to a variety of goods and services at competitive prices.

(d) Consumer education.

Codes :

(1) Only (a) is correct (2) Only (b) and (c) are correct

(3) Only (a), (b) and (c) are correct  (4) (a), (b), (c) and (d) are correct

If a complaint is found frivolous or vexatious under the Consumer Protection Act,
complainant shall pay to opposite party the cost :

(@ As specified by orders of the court.

(b) Dismissal of complaint without any cost.

(c) Not exceeding ten thousand rupees.

(d) One-tenth of the amount claimed as relief.

Codes :
(1) Only (a) and (c) are correct. (2) Only (c) and (d) are correct.
(3) Only (b) and (d) are correct. (4) Only (a) and (b) are correct.

Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : It shall not be a defence in a prosecution for an offence under Section
138 of the Negotiable Instrument Act that the drawer had no reason to
believe when he issued the cheque that the cheque may be dishonoured
on presentment for the reason stated in that Section.

Reason (R) : Above assertion is laid down in Section 140 of the Negotiable
Instrument Act.

Codes :

(1) Both (A) and (R) are wrong.

(2) Both (A) and (R) are right and (R) is correct explanation of (A).

(3) (A)isright, but (R) is wrong.

(4) (R)isright, but (A) is wrong.

Match List — I with List — Il and select the correct answer using the codes given below :

List— I List— 11
(Consequences of ultra vires transaction) (Judgement)
(@) Right of a member of company to get () Jehangir R. Modi V. Shamiji
injunction against ultra vires transaction Ladha
(b) Personal liability of directors (i) Attorney General V. Great

Eastern Railway Company
(c) Breach of warranty of authority to induce (iii)  Coltman V. Coltman
a third party to enter into ultra vires
transaction with company
(d) Ultra vires acquired property (iv)  Weeks V. Propert
Codes :
@ 0 (© (9
() Gy (@) (iv) (iii)
(2 (@) (@) (iv) (iii)
(3 () () (i) (iv)
4) (v) (i) (@) (i)
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66.

67.

68.

69.

USRI TLRI0T ST o ST SUMaRTTeT & b STUehRI i ST URWRT §RT Thead 3T
e foram STTar & 2 e ST 7T et i1 JEhT 3T ST

(a) ST 3T 16T o oI WA a&qall 37K Farsti o [auur & foeg TeetoT

(b) SEIST SR HaATSH I TUTERT, HET 3R God & IR H STHSHR!

(c) Tfceaell goar oX fafi= U t aqati 37’ arati st Gorar

(d) ST fereT

£ 4

(1) ¥ (a) TEIE | ‘ (2) == (b) IR () WRIE |
(3) M (a), (b) FR (c) W ¢ | @) (a), (b), (c) A (d) TEIE |

g STTHRAT TRET0T AT o ST FoTehrad = SToIaT A7 e et Ure S &, ot ferehraashar
foRIet Ut =l AN 37aT BT

(a) TR & AT o FRT FATTed

(b)y  TomT Topedt Tt o fRTeRTae ol @RSt ST

(c) IO &R T T 3y e

(d) VA % T Y S i TS T T SEaT B

%<

(1) oA (a) 3R (c) T E | (2) FaA (c) IR (d) T E |

(3) e (b) 3 (d) TN T | (4)  FaeA (a) 3T (b) T E |

M (A) 3T HRUT (R) Hl U¢ 3 A ST el S TFT SIS -

AR (A) : Wik fefad sifufam it arT 138 o Siard fohdl STy & e siiyesH o a8
Tqag el BT o STMeRuTehal i UHT forva she 1 1S SHIROT =T o foh 51 S8 <k SRy
foham &t < 3T URT § HAT HRUT F TR0 T SHIGT & S |

HROT(R)  : SUIo 3Afere Wehr foraa eifufaam st arr 140 ¥ Fameg € |

T

(1) (A) 3 (R) IH Tord € |

(2) (A) 3R (R) IHT Tl § 3T (R), (A) i T&t AN E |
(3) (A) Wl g, fFg (R) Tord & |

(4) (R) W&l &, T (A) Tad & |

@—Iaﬁqﬁ—ll%w;i:ﬁ“w ﬁ&qﬁq?uqi%%ﬁm@m@nmﬂ:ﬁﬁwwwﬁ:

et — | -1

(TR Geaae R’ % aioTm) Eﬁﬁv)

(a) HEAT P TG I SUBRAT AR & oo (i) SRAIR IR, TET ST ISt 7T
R T I SIHR

(b) THeSTeRT T ST T (ii) WW&Z%@#W

(C) U % W UFRAT FHTER HH o [ dreR (i) o= I=m it
U&7 T SR A o WITHHR % AR B T &I
(d) AR fsTa St (iv) d I e

A

@ 0 © @
() Gy (@) (iv) (iii)
(2 (@) (i) (iv) (i)
(3 (i) (@) (i) (iv)
4) (v) (i) (@) (i)
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70. Match List — I with List — Il and select the correct answer using codes given below :

List—1 List— 11
(Exceptions to doctrine of indoor (Judgement)
management)
(@) Knowledge of irregularity 0] T.R. Pratt Ltd. v. M.T. Ltd.
(b) Suspicion of irregularity (i)  Ruben V. Great Fingall
Consolidated
(c) Forgery (iii)  Anand Behari Ltd. V. Dinshaw
& Co.
(d) Acts outside apparent authority (iv)  Morris V. Kanssen
Codes :
(@ (b)) () (d)
D G i)y @ ()
(2 (v) () (ii) (i)
@) (@) (@v) (i) (i)
@) (v) () (i) (ii)

71. Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : Payer alone, whether a corporeal person or incorporeal person, shall be

competent in case of dishonour of cheque.

Reason (R) . Because Section 138 of Negotiable Instrument Act mandates so.
Codes :
(1) Both (A) and (R) are right and (R) is correct explanation of (A).

)
(3)
(4)

Both (A) and (R) are wrong.
(A) is wrong, but (R) is right.
(A) is right, but (R) is wrong.

72.  Which of the following statement is correct ?

1)
(2)
©)
(4)

Paper-I111

A condition is a stipulation essential to any purpose of the contract.
A warranty is a stipulation collateral to any purpose of the contract.
When a buyer waives a warranty, it becomes a condition.

Where a contract of sale is not severable and the buyer has accepted the goods or
part thereof, the breach of any condition to be fulfilled by the seller can only be
treated as a breach of warranty and not as a ground for rejecting the goods and
treating the contract as repudiated, unless there is a term of the contract, express or
implied to that effect.
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70. ga“r;%ﬁgﬁr— 1 % &1 AT T 3R raai o =i T 1T et 61 v e Tl Se’
T

= - | = - 1
(T 9w & THET & ATaTg) (Frotar)
() arfafadar &t STHHRY (i) e e fa s . s
(b) At 1 UE (i) T T99 U fFTer HraifeTecs
(€) = (i) o foery fot. s foerem U &,
(d) amer yeaet wTeehR & e (iv) =i s Hae

YA

[=N

1)
)
(3)
(4)

@ () (¢ @)
(i) @iy @) (iv)
(v) () (i) (i)
(i) (v) (i) (i)
(v) () (i) (i)

71. PR (A) 3T HROT (R) i U 3R = ST i T TET SIS
aﬁﬂ?ﬁ;:fn(A) : haeT TSR, T8 OX At &1 a1 ST SAfod, =% % 3TRY % d § ard
|

FRUT(R)  : HiTh Wbt foad ST ot 9RT 138 UAT SIS et & |

%<

¢ .

(1)
()
(3)
(4)

(A) 3R (R) T T&l & T2 (R), (A) Ht T&t AR € |
(A) 3R (R) THI T € |

(A) T €, 3R (R) Tl & |

(A) T &, 3R (R) ToAd & |

72. TETGREd § 9 9 91 6T T E 2

(1)
)
3)
(4)

J-58-16

HfereT o et off 3299 o foIw 91 S1fam ey & |
TfaaT & ot off 329 & fefu anidt uiiverss oFeY ¢ |
e Ueh TGN aR2! i TTucded el €, af I8 I o STl & |

et fasha ! GfereT gereeRtoia T8l € 3 shdl 3 AIeT a1 SHe! &3 WiR Y foran & &t
TR TaohdT §RT QX1 TSR ST oot hig off 91T ST &Il €, ff S§ Sharel ARl bl 6T & | ST
ThaT & 3T Tt Sl STATHR B & oTT T WlesT i R vt ST ot TR &t o
ST ekl STel A foh 39 YA o fotd T a7 feraferd dfesr 1 Heem € |
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73.

74.

75.

Match List — I with List — Il and select the correct answer using codes given below :
List—1 List— 11

(@) Goods in sale of goods (i) Bhopal Sugar Industries Ltd. V.
STO

(b) Consideration for a sale of goods (ii) Instalment Supply Ltd. V. STO

(c) Sale and agreement to sale (i) R.D. Goyal V. Reliance
Industries Ltd.

(d) Difference between contract of sale (iv) Aldridge V. Johnson
and contract of agency

Codes :

@ (b () (d)
() @) (v) (i) (@)
(2 (v) (i) (i) ()
@) (i) (v) (@) (i)
@) (i) @) (v) (i)

Which of the following partnerships are legal ? Answer using the codes given below :
(@ Twelve members forming a banking firm.

(b) A partnership to create a monopoly.

(c) Twenty members forming a firm for tea trade on a railway platform.

(d) Trustees carry on business of a firm in their own name.

Codes :
(1) (@), (b), (c) and (d) (2)  (b), (c) and (d) only
(3) (b)and (c) only (4) (c)and (d) only

Read Assertion (A) and Reason (R) and answer using codes given below :

Assertion (A) : Notwithstanding a contract between the partners, a partner shall not
indemnify the firm for any loss caused to it by his wilful neglect in the
conduct of the business of the firm.

Reason (R) . Because Section 13(f) of Indian Partnership Act stipulates so.
Codes :

(1) Both (A) and (R) are right and (R) is correct explanation of (A).

(2) Both (A) and (R) are wrong.

(3) (A)isrightand (R) is wrong.

(4) (R)isrightand (A) is wrong.
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73. ga“r;%ﬁgﬁr— 1 % &1 AT T 3R raai o =i T 1T et 61 v e Tl Se’
T

= - | =t - 11
() wre faskar o AT (i) IITeT IR TS fot. A Tg.2t e,
(b) et fasha o ford ufdwer (i)  Iiome g for. =g T2t e,
(c) fasnt 3T fasht &1 THeiia (i) SR MIA T R Te@is o,

(d) ferht bl wiferT i Toi=l 1 WfereT b & (iv)  eAfossT ST SiE
HA

ETE

@ () () (@
@) @iy @v) (i) ()
2 (v) (i) (i) ()
@) (i) (v) (1) (i)
@) () () (v) (i)

74, frAfAfEd B 9 SF O OISR a9 € 2 FHEfatad $ei H vE #R 9el SR I
(a) SR HH I ST & T 9RE 95
(b) TSR & o o fIT YrTER
(c) oI ITHH W 1 % AR & foTd FH Sl ST & S T8
(d) T FH 1 AR 9 71 F 1 € |

e :
(1) (a), (b), () TR (d) (2) A (b), (¢) 3R (d)
(3) A (b) 3R (c) (4) A (c) IR (d)

75. 3T (A) 3T HROT (R) i U SR = ST i T TFT R SIS

AHHYT (A) : TFIRRT & dre |igeT o & g¢ o, Tsh WIER ®H & UK & oo d SHa
T YT & HRUT FH i gU R off THa™ & for & @l aafaqgfa &t e |

HWOT(R) T ARAR AR St &t arT 13(f) U Fod st € |
Ecl\'z_d':

(1) (A) 3R (R) 31 et & 3R (R), (A) F T&t AT |

(2) (A) 3R (R) IHI T & |

(3) (A) T T R (R) T € |

(4) (R) W& 3R (A) Tod & |
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